
B.Com IInd year (3 Y.D.C.) Examination   CS01 

nsoh vfgY;k fo’o fon~;ky;] bUnkSj 

vxzs”k.k dsUnz] bLykfe;k dfjfe;k egkfon~;ky;] bUnkSj  

Lok/;k;h ifj{kkFkhZ l= 2019&20  

ch-dkWe f}rh; o"kZ 

xzqi & ys[kkadu leqg 

iz’u i= &1 fuxfe; ys[kkadu ¼Corporate Accounts½ 

uksV% lHkh iz’u gy djuk vfuok;Z gSA  

 izR;sd iz’u ds vad leku gSA          10 x 5 = 50 

iz-1 daiuh vf/kfu;e 2013 ds vuqlkj vafre [kkrs ds laca/k esa eq[; ckrksa 

dk mYys[k dhft,A  

Mention the main point regarding companies Act, 2013 and Final Accounts.  

iz-2 lqeu ,.M lqeu daiuh nsokl ls fuEu fooj.k çkIr gq,%  

v& foxr 3 o"kksaZ dk ykHk Øe'k 50000] 60000 o 55000 :- 

c& ykHk dh lkekU; nj 10 izfr’kr~A 

l& yxkbZ xbZ vkSlr iwath 3]00]000 #i,A  

n& ykHkksa esa 4000 #i, vkSlr nj ls ckj&ckj uk gksus okyk ykHk Hkh 'kkfey gS 

ftlesa ls #i, 1000 çfr o"kZ ,sls ckj&ckj uk gksus okys ykHk Hkh 'kkfey gSa 

ftudh ço`fÙk ckj&ckj gksus dh gSA  

fuEukafdr fof/k;ksa ls [;kfr dh x.kuk dhft,  

1& vf/kykHkksa dk 5 o"khZ; Ø; ekudjA  

2& vf/kykHkksa ds iawathdj.k vk/kkj ijA  

3& okf"kZd fof/k gklA 

The following particulars are available in respect of Suman and Suman company of Dewas:  

a) profit for past three years Rs. 50000, 60000 and 55000 respectively.  

b) Normal rate of profit 10%  

c) Average capital employed 3,00,000 lacs.  

d) The profit included non recurring profit on an average basis of Rs. 4000 of which it was 

deemed that even non recurring profit had a tendency of appearing at the rate of 1000 P.A. 

 Compute Goodwill from the following methods:  

1) As per five years purchase of super profit.  



2) As per capitalisation of super profit.  

3) As per annuity method. 

iz-3 daiuh dk vfuok;Z lekiu fdu n’kkvksa esa gksrk gS le>kb,A  

Under what condition the company is compulsory liquidated? discuss  

iz-4 fdu n'kkvksa esa vkarfjd iqufuZekZ.k vko';d gks tkrk gS bls fdl çdkj 

çHkkoh cuk;k tkrk gS\  

Under what condition internal reconstruction becomes desirable ? how it is effective?  

iz-5 ,d daiuh dk ,sfPNd lekiu gqvkA bl dh laifÙk;ksa ls 3]50]000 #i, çkIr 

gq,A blesa og jkf'k 'kkfey ugha gS tks fd bu çfrHkwfr;ksa ds cspus ls çkIr 

gqbZ tks iw.kZ jf{kr ysunkjksa ds vf/kdkjksa esa FkhA fuEukafdr fLFkfr Fkh% 

A Company went into voluntary liquidation Rs. 3,50,000  were received from its assets it 

does not include that amount which is received by selling this securities which are with fully 

secured creditors following was the position: 

  :-     Rs. 

1& va'k iwath 100 :- okys 1000 va'k  

Share capital 1,000 of Rs. 100 Each.  

35,000 

2& iw.kZ jf{kr ysunkj ¼çfrHkwfr;ksa ij 40000 #i, çkIr gq,½  

Fully secured creditors (Rs. 40000 was received on securities)  

6,000 

3& iwokZf/kdkj ysunkj  

Preferential creditors.  

1,40,000 

4& vkjf{kr ysunkj _.ki= ftudk daiuh dh laifÙk;ksa ij ¶ysfVax 

vf/kdkj gks 

Unsecured creditors debenture having a floating charge on the Assets of the 

company.  

2,50,000 

5& lekiu O;; 

Liquidation expenses.  

5,000 

6& fuLrkjd ikfjJfed  

Remuneration of liquidator.  

7,500 

fuLrkjd dk vafre fooj.k [kkrk cukbZ, 

Prepare the fund statement of Assets of Liquidator. 

 

 

 

 


